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G P _ 100m 1_000m/800m _ 60mH _ E = Bk _4x1oomR
RCER | FHR | OFR | FHR| A0SR | ek | sosx | FAR | EEER | TRk

10 |BH 5% 56.91 5

11 |FF BAX 13.96 5 56.91 5

12 [T K#E 56.91 5

13 |SRE f# 1m30cm | 4 56.91 5

15 |8K EX 317725 | 6

21 |SF BF 306730 | 2 9.42 3

22 |BEAR Eth 13.16 2 9.68 4

26 |HEHY EE 325777 | 8

98 A% BETE 318708 | 6

28 | K=bIEY 2’55797 | 8

34 | KBZER 14.46 3

35 |/h#R RR3E 2'46761 5

36 |/htk B=E 2'33"72 | 1

39 |WUfE & 326795 | 8

44 |ILlE Rk 14.71 8

49 |BAR =Ekx 249”35 | 6

47 |hNfk Bm=E 14.42 3
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